8. Number, Ranking & Time Sequence Test

NUMBER TEST

In this type of questions, generally a set, group or series of numerals is given and the candidate is asked to trace out
numerals following certain given conditions or lying at specific mentioned positions after shuffling according to a certain

given pattern.

Ex.1

Sol.

Sol.

Solved Examples

How many such bs are there in the following number sequence each of which is immediately preceded by 3or
4 but not immediately followed by 8 or 9 ?

35954553584&673‘575545235IO
(1) Four (2) Three " {3) Five {4) None of these

As you knew, a number which comes after a given number is said to follow it while one which comes before the

L

given number precedes it.
35954.53584.673.7554.23.10
Cfearly, there are fxve such 5s. Hence, the answer is (3). '

In the series given below, how many 8s-are there each of which is exactly dtvrs:bie its-immediate preceding as

well as succeeding numbers ?

2. 83 8 2 4 8 2 4 86 8282 483 8 238 6

(1)One .. . ... {2)Two . (3) Three - {4} Four

Clearly, we may mark such sets of 3 numbers, in which the middle number is 8 and each of the two numbers 6n
both sides of it is a factor of 8, as shown below: :

28382-4868-4838286

" 'So, there are two such 8s. Hence, the answer is (2).

Sol.

Ex.4

Sol.

Intheseries, 64 1.228742153862171413286

how many pairs of successive numbers have a difference of 2 each? :

{1} Four ; (2) Five (3) Six {4} Seven
Clearly, the pairs of successive numbers havmg a difference of 2 can be shown as follows :

641228742 1'63]8621714[13]2[86] |

Thus, there are six such pairs. Hence, the answer is (C).
How many such pairs of digits are there in the number 531268947 each of whlch has-as. many digits between

. them in the number as when they are arranged in descending order? .

(1) None {2) One {3) Two _ v {4) More than three

"The given number i : 531268947
 Arranging the digits in descending order, we get: 987654321.

We have the foilowing pairs gf digits; satisfying the given conditions.

1268947 7654321
268947 | 765432
89 98
947 | 987 )

«ck pairs, name! y (5, 20.43.6), (1,20, (1, 7),(2, 71, (8, 9 and {9, 7). Hence, the answer is (D).

Thus, we have 7 suc I



RANKING TEST

both from the top and from the bottom are mentxoned and the

In this type of questions, generally the ranks of a person
e of interchanging

total number of persons is asked. However, sometimes these questions is put in the form of a puzzl

seats-by two persons.
Ex.5 Rohan ranks seventh from the top and twenty-sixth from the bottom in a class. Flow many stude

the class ? 2

(1)31 (2)32 "@ = Q33— (4) 34
Sol. Clearly. the whole class consists of : ™~

(i) 6 students who have ranks higher than Rohan;

{ii) Rohan; and
{iii) 25 students who have ranks fower than Rohan, i.e., (6 +1+25)=
Ex.6 Manik is fourteenth from the right end in a row of 40 boys. What is his position from the left e
(1) 24% (2) 25" (3) 26" (@27
Sol. Clearly, number of boys towards the left of Mamk (40 - 14} = 26. v
So, Manik is 27 from the left end.
. ... .Hence, the answer is (4)..
Ex.7 In a row of boys facing the North, A is smteenth from the left end and Cis sxxteenth from the ri
is fourth to the right of A, is fifth to the left of C in the row. How many boys are there in the row ? ?
(1) 39 (2).40 ' (3141 . - 4y42
Sol. Clearly, according to the given conditions, there are 15 boys to.the left of A, as well s to the right of C, Also, B
lies between A and C such that there are 3 boys between A and B; and 4 boys between B and C.

TN

e SpA¢c—3B<—>C ¢—F—>
3 4 15

nts are there in

392 students. Hence, the answer is {2).
nd ?

ght end. B, who

15

s¢., number ofboysmthe row = (15 + 1 + 3 +1 +4+ 1 + 15) 40 :
‘Hence, the answer is 2y - » ’
‘ TIME SE_QUENCE TEST
. To solve time based problems the following ir;fox nﬁﬁons afe very useful.
,‘In every 1 hour, the hour hand rotates 30° and the minute hand rotates 360°
The year which is divisible by 4'is ; called a leap. year E. g. year 2012 is a leap year. |
- A century year which is dmsxbne by 400 is called aleap year E. g 2000 isa leap year but 2100 is 'xo*

1 century = 100 years. _ S : .
8 Satish remembers that hxs brother s birthday is after ﬁfteenth but before eighteenth of Febmary whereas his
 sister Kajal remembers that her brother’s birthday is after s:xteenth buit below mneteenth of February Onwhich
N day in Febmary is Sansh brother s blrthday ?- ' S .
T 16”‘ o (2) e (3) 180 T (4) 19n
irthday is on one of the’ days among 16 and 17% Februa'y &cordmg to-
and 18% February. Clearly, Sahsh s brothe* s

>
>
D 4
B There are 29-days in February ofa leap year
> =
Ex

Sol. According to Satish, the brother sb
Kajal, the brother's birthday is one of the days among 17*
birthdey is on the day commen to both the above groups i.e., 17 February R

‘ Herce, the answer is {2}



“Ex.9 A bus for Delhi leaves evéf¥ thirty minutes from a bus stand. An enquiry clerk told a passenger that the bus had
already left ten minutes ago and the next bus will leave at 9.35 a.m. At what time did the enquiry clerk give this

information to the passenger ?
(1)9.10am (2) 855 a.m. (3)9.08 a.m. (4)9.15 am.

Sol. The next bus will leave at 9.35 a.m. This means that the previous bus had left at 9.05 a.m. But it happened ten
minutes before the clerk gave the information to the passenger. Thus, the enquiry derk gave the information at

9.15. Hence, the answer is (4). _
Ex.10 If the seventh day of a month is three days earlier than Friday, what day will it be on the nineteenth day of the

month ?

{1} Sunday (2) Monday (3) Wednesday  {4) Friday

Sol. As mentioned, the seventh day of the month is three days earlier than Friday, which is ATues_day. So, the
fourteenth day is also Tuesday and thus, the nineteenth day is Sunday. Hence, the answer is (1).




° __EXERCISE _ : =

1. In the following series of number’s find out how many times, 1,3and 7 have appeared together, 7 being in the

middle and 1 & 3 on either side of 77 v .
29731]377133,},38571_’17173906

{1)One _ {2) Two 3V Fhree {4) Four ‘
2 In the following number series how many 8's are there which are exactly divisible by the numbers which are

preceded and followed by it ?
8245172?48422%2698454§32§43183
nt (2) 2 3)3 @ha
3. How many 5's are there in the following sequence of numbers which are immediately preceded by 7 ?
8953253855687335775365335738 i
(1) Ofe (2) Two (3) Three (4) Four
4. How many 8's are there in the following sequence which are immediately preceded by 6 but not i
followed by 5 ?

immediately " -

68578543;2}198546829681368536
(Y Thres =~ =T @Four -

(1) One :
5. Inaserles given below count each 5 whxch is not immedxately preceded by 3 but immediately followed by 7.

How many such 5’s are there? :
1573@74737256585745655/715,2755

s | @3 | 315 » @2 ;

6. How many 6's are there in the following series of numbers which are preceded by-7 but not ;mmediately .
followed by 9? 7 ac :
6795697687678694677695,&3 A ;

(1) One - @Two - ee . (4) Four : *

"g. " Inthéfollowing Colour sequence, R stands for Red Y for- Yellaw, G for.Green, Bfor. Blueand w for thte of the B

sequence is continued, which colour will come next?

BBWdRWBRWGBR}NGYB$BBWBRW
A) Yelow  (@QWhe - (3)Ble (@) Green |
8.  The positions of how many dlgits in the number 321465987 w:ll remain same when the digits are arranged i’

ascending order? : . o
(1) Three =~  (290ne. - BTwo (4) None ;
9. Ifitis possible to make a number which is perfect square of a two-digit odd number with the second, ‘the sixth Q
~ and the ninth digits of the number 187642339 which of the followmg is the digit in the umts place of that 3

-

two-digit odd number ? _ _ . i
I L @ T ¥

- @9 . - .’f" o (4)No suchnumber can be made 3 ;
10. What wﬂl be the middle dxgit of the middle nmnber after the following numbers are arranged is descendmg {

‘ ordef? : m? 23,9 '\'ﬂ oy
~ T ; 267 197, 678 129 259 - K » L
e - @9 . P2 ws S
~-Dxrecﬁon Q. 1110 Q. 13) The diglts o each of thefolioumg fwen bers arewritten in reverse order and five new -,
numbersare obtained g : < S o
- 513 726 492 865 149 : DRI

11 Whi h of the foliowlng will be the' middle digit of the third: number from the top when the new numbers are i
: arranged in descending order'? R

w1 @2 @e o ooms g



12. Which of the folfowing original numbers retains the same position from the top when arranged in descending
order even after the positions of the digits are reversed?

{1) 149 (2) 492 _ {3)513 4) 726
13.  Which of the following will be the third digit of the second highest new number?
1 _ 2)5 (3)7 ‘ 48
14. Mohan is 18" from either end of a row of boys ? How many boys are there in that row ?
(1) 26 - @32 7 (3) 24 @as

15. Ina class of 60 where boys are twice that of girls, Ramya ranked 17® from the top If there are 9- boys ahead of

Ramya, how many girls are;f/t?er in the rank ? o
(1) 26 212 .10 ™ @33

16. In an examination Raj got more marks than Moti but not as many as Meena. Meena got more marks than
Ganesh and Rupali. Ganesh got less marks than Moti but his marks are not the lowest in the group. Who is

second in the descending order of marks ?
{1) Meena {2) Rupali % {4) None of these
17. Among A,B,C,D, B is heavier than A and C but Cis taller than him. D is not as tall as C, while A is the shortest.

Cisnot asheawas A. Dis heavxer then B but shorter then hi Who is the heaviest? >
w0 @A \(BVD} @c 8
Ina row of five persons, A is next to B. E is on the right side o_f Awho hasDon his left side. C.and B do not st
together. Who are sitting on the two ends of the row? : ) . ’
€ andE (2) Aand D (3)BandC , %ﬁd A
99. Arank 5% in the class. B is 8" from the last. If C 6% after A and just in the middle of A and B. How many students \\):51
are there in the class? : ‘ } _{g
(1) 25 (2) 26 ~(3)23 424 - o
20. Babloo ranked 16* from the top and 29" from the bottom among those who passed an exantination. 6 boysdid
not participate in the competition and 5 fai!ed in the examination. How many boys were there in that class ? =
: {1)44 . @40 - - - -(3)5C M T -
21. Indrais 7% from the left and Jaya is 5" from the right. When they interchange their position Jaya becomes 19“' »
from the right. What is Indra’s position from the left 7 S :—;—-{;" -
(lﬂ{g R (2) 19th . o (3y23rd . _ - .(4) 20th s F 2L
23"

22.  An application was received by inward clerk in the afternoon of a weekday. Next day he forwarded it to the 7 _
table of the senior clerk, who was on leave that day. The senior clerk next day evening put up the application ;

to the desk officer. Desk officer studied the application and disposed off the matter '6n_ the seme day, ie., *°
 Friday. Which day the application was received by the inward clerk ? - _ .
(l)Tuesday. ‘ | (2) Farlier week’s Saturday %0
(3 Wedneéda_y @ Monday o
| 23. | If 120 dayb of a month is Friday then what is the day 30% dayof the same month? ) : .
[ M " (2) Thursday (3) Friday {4) Saturday - ,\}/ - 1,"’

Directions {Q.24 to Q.30) : Study the following mformatlon to answer the given quesﬂons
“(na class of boys and glrls, Armar’s rank is 12“‘ and Meeta stank is: 8th : o ) 2
( i) Amcr s rank among t the boys is 6% and M tas rank. among gers is 3“1; e o

& m) In the dass Meeta s rank is 5?'*‘ romvth ; ‘er 'enc;! S
= {iv) From tbe other ‘end; Amar 5 rank among the boys- is 26”‘

24. Howmangboysare*here mtbeclass’ o
ma . S @es T @y




26.
27.>
28.
29,

30.

Whieh of the following is Meeta’s rank among the girls from the otherend ? -

(1) 23" (2288 - - (3) 26t (4) Can’t be determined

How many boys are there before Meeta ? , _
14 - @5. 33 ' - {4) Can’t be determined
How many boys are thére'betweg;n Amar and last rank (assuming it is a girl) in the class ?

(1)25 @47 @22 (4) Can't be determined
How many boys are there between Amar and Meeta ? ' -
..{1)One (2) Two (3) Three (4) None of these

How many girls are there before Amar ?" A ) L
15 ' 206 37 B (4) Can’t be determined

How many girls are there between Meeta and Amar ? :
{1)One {2) Two {3) Three {4) Can’t be determined

EXERCISE

ANSWER KEY. = -




